X 1"7'010 2,7 U L7023

— 5910 K% RRAYY KPR NOY3 ON
If you wish I can say; what is the reason etc.

OVERVIEW

The X713 concluded that according to 727, the Xn»72, which states that if the
9w did not say 1"92 the vx will be “w2 if »anna o»pn1, is applicable if the
following two conditions are met: a) 1725w IR, and b) no>w>. The Xn*»92
explains that the reason the v3 is 7w2 is because the 7pn of saying 1"92 was
instituted nnn% X9 7% Hpn. This explanation requires some clarification
according to 727.' The explanation offered is: that one may think that even
though she i1s remarried, nevertheless since the 73pn of saying 1"92 was not
followed, we should maintain that Xxn. The &n>12 teaches us that since the
7Ipn was instituted to make it easier for her to remarry, by requiring only
one YW to say 1"92 instead of producing two 2>7v (that the v was written
nwY), therefore we are lenient and let her stay remarried. The X7
continues saying: 121 1°pn "Rn Xnvv. There is a dispute between *"w1 and
nooIn whether we are 0713 the words 'R°X n°v2°R' before 121 *Rn Xnyv, thus
making it an additional explanation/answer, or we are not X"2°X 073, and
"R Xvw is the conclusion of the original answer.

moon first presents the X073 of *"'wA.
= NI NNDNT NIPOT NIPN SPYIN 09 KD Y/YH

>'"w49 does not include in his text the phrase 82X nswa’R; because Xnyv'
"1 °R7 is the conclusion of the original explanation.

mooin disagrees with >"wA.
= bYW 0D ROWN NY PN 1D D) 929WT NN PNYY 139349D)

The %" is of the opinion that it is proper to insert 'X2°X n°v2°X' in the text,
and the X713 is establishing now (in this second explanation) that this Xn>92
is discussing a situation of YTW®® 2TW2. The Xm3 is reversing the original

! Seemingly according to 7727 the reason the v is 7w is on account that (it is 1725w 71X and) the woman
already remarried. It has nothing to do with a X9 in 1"52 n1pn. (However according to X217 who maintains
that the 71pn of 1"92 is because of a1p, it is understood that 1"52 was instituted ;7°%¥ 9pn% and therefore avp
is certainly sufficient even if no®1 K%.)

2 See 1"nx # 10 that if we are discussing 1725w 91X and no°1, how can the X3 state W wn Xp K? Hya Rnwn
"3; even if he was 7w1yn he will not be believed since it is 1727w JnX? and no°d. Therefore it is necessary to
establish the Xn>12 in the era of 117w o7p.
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interpretation that the Xn»92 is discussing 1727w 77X, Rather we may say that the Xxn»12

is discussing 1729w 07 and nevertheless —
= PHRMN DYPNIT YWNIID NI 919THT 1195 NN XD NDT 11994

For since she is already remarried she is not required to leave her new
husband since there can be no concern that the vx is nu» for it is

authenticated through its signatures -
= PP DA SNN AN NNYY NIYT NIV 1YY XON KDY

And there is no concern (that the v3 was actually written 7w X9v), except
for general gossip that the ) was written 72w K. We are not concerned

that the vx was written 7> X5¥ even if the husband will come to contest
the v, and claim that it was written 72w> X5w. We do not take the husband’s vy
seriously, even 1712w 0T, since >3 XM RITT RIDO ANOY 177 PR°PA 210,

$(oya 7N DT ey [0 91]) IOYY NPYI9TS
As I previously explained.? Therefore once the woman is remarried, and the v3 was
opn, she may remain remarried. The only reason 1"91 is required is to prevent a future
199, A 139 may make it difficult for the woman to remarry, etc. Now however that she is
remarried; at present there is no 19, the 92 is not being y¥n, it is best to leave things as
they are.*

SUMMARY

There is a dispute between "1 and Mo0IN whether we are '8n°R N°y2°KR' 077,
*"w9 maintains that we are not 'R"v2X' 0. The X x offers only one
explanation and the phrase beginning with *X» Xnvv is the conclusion of the
original answer.

3 See 717 1™ X,3 '0YM 1327 71"7 2,2 'o1n. It would seem that this dispute between >"w1 and n9oIn here, whether
we are 'Sn°K n°Y2R' 03 or not, depends on their previous nP12nn on 2,2 77 concerning the 73PN of 1"52. The
R there stated that T19¥XT X177 7127 to say 1"92. According to " the reason why TMXRT R)7 1127 is
because 7"2 is wwn that perhaps this v was not written 7mw?; the husband may have found a v3 that was
121 wws mw. However, M50 maintains that T¥XT K17 73271 is because 72 is concerned that the husband
will be 7wyn falsely that it was written 7nw% 8>w. Therefore NN can maintain that there is an n°YaR'
'K, which is discussing 1719w a7p. For even 1117w 07, the whole n1pn of 192 was because 22 *nx X7
"wayn. However, *"w1 cannot say that even originally the 73pn was 2¥2 >nR 817°7, for as previously stated,
7" itself is concerned that it may be anw> X7w. It is only 1727w K> and no*aw> that we can say X1 Rnyw
121 932 °NR ’1?°7 10N See also (P71 7"7 K,7 7721 182) n"n3 and (7121 10 MR) 7510 . Similarly it is also possible
to say that these two answers in the X3 (according to maoin) will depend on the two M w of MdoIN on A7
71 71" 8,3 If we maintain that the (V12w a7p) Pv2n Ny will actually make the 9109 v3 then the Rn>>12 will
be discussing only 1727w nx? (like >"w1). However if we maintain that even when the 9v2 is yvn the va is
not 709, then we can interpret the Xn>13 even 1727w D7Ip.

4 According to this explanation (of mpon), the phrase 121 %y A 1”02 MY 1987 K? M7, is readily
understood. The purpose of saying 1"92 is to prevent a false w1y, When there is no 297, nor any 12, and
the woman is remarried, there is no reason to change her status.

2

TosfosInEnglish.com



X 1"7'010 2,7 U L7023

moon is of the opinion that there is a second answer. The X3 now rejects
the previous answer that we are discussing 1717w X%, In the X"V2X we
maintain that the Xn»12 is discussing 1717w 07 and nevertheless if R? no»
xx¥n. The only concern that causes us to say 1"92 on account of 1nw? is the
wwn that perhaps the %va will be w7wn that it was written 7Pw? Xo5w.
Therefore since she is already married and the ¥ was not 7w7v» we will not
act as if there was an Myy.

THINKING IT OVER

1. Is there a difference between the nmwwn of 7awH PR°Pa PR and 277V PR
MY 13N, in a case where the %2 is yavn either that it is 7”™7n or XoW
W respectively?’

2. It seems that according to "W~ the answer of 7%y Hp7% XX 101 p"i' may
not be a sufficient explanation without the conclusion of "1 *Xn Xnyv'.
However according to '01n the idea of ™21 *Rn Xnyw' 1s not necessary for the
completion of the first answer; it is an answer on its own. How can this be
explained?

3. According to Mmoo what are the relative advantages etc. of the two
explanations the X713 offers?

4. What are the relative advantages, etc. of s""w2 and n1901n explanations?

> See 1"nX # 13, 13 MR 7"210, and n"n1. (See ‘Thinking it over’ # 1&2 in previous NOawa 7"7 X7 N19OMN.)
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